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According to Rabi Mayer his stipulation is valid, etc.

Overview

The &n>12 cites a dispute between »n"7 and the 1127 in a case where the father of the
7R made a stipulation not to be 7v» her. According to »"A the stipulation is valid,
but according to the 7127 the stipulation is void since he is 77102 21N2W 2"V "INA.
The X713 then cited another Xn>72 in which there is a dispute between >"71 n"9
regarding one who was wipn a woman with the stipulation that he is not
responsible for 72331 Mo> IRW. According to »"9 the *Xin is 702 and she is nwTPn,
while according to °"9 the "Xin is valid regarding monetary obligations (like XY
mMo3Y). The xm3 asks that n"1 is contradicting himself.'
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There is no contradiction between the 3129 (who maintain by v that 02 °Xin)
and the 3329 (who maintain that 2»p XN PHHIY 1272), since 7% is not a =27
PR,

Summary
TV 1S not a NHHIAY 127.

Thinking it over
Is v a Iilalamivzg 9277

"' In the case of T he holds that 0P W10 and by 71931 Mod XY he maintains 202 WRIN.

? The 127" in the ®n>12 of 7Y (who maintain Y2 RIN) is presumably 7717 ", who is the Xn3%9 12 of n". It is
mentioned as '1137' since the 713777 is (usually) like *"1 against n".

? Seemingly here too where the master is buying an ;X (which is a 172w 127) the stipulation is regarding a 927
712w (the purchase of the nX). Why does (1327) *"1 maintain that 3 X1n.

* The Xin was not regarding the sale, but rather regarding 71, which is not a ynaw 227.
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